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n Jenny has 17 raffle tickets. She gives 9 of them to her brother. How many raffle tickets does Jenny still have?
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Count back. Choose the number that is 4 less.
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(a) 2
(8) 4
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(p) 12




Justin has 5 baseballs. He hits some balls over the fence. He has 2 baseballs left. How many baseballs did Justin hit
over the fence? Select the picture that matches the story.
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Which of the following matches the drawing?

00800 0000

B Count by ones or tens to find the sum.

42 + 30 =

Jamie draws 12 butterflies. She draws 5 of them flying. The others are resting on flowers. How many butterflies are
resting on flowers? Use paper to show your work. Select the correct answer.

@ 4 butterflies are resting on flowers.
6 butterflies are resting on flowers.
@ 7 butterflies are resting on flowers.

@ 8 butterflies are resting on flowers.




Use the €=H as a unit of measure. How long is the fork?

oy — o} — ) — g — oy

The fork is about tacks long

n Select the true number sentence.

(A)13-4=9+2
(B)13-7=5+1
(Q4+5=15-9

(0)8+3=17-5

Choose all of the ways that name the time on the clock.
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6:00
4:00
4:30

IE Half past 4:00



Maria has 16 crayons. She puts 10 crayons on her desk and leaves 6 crayons in the box. She gives her friend
9 crayons from her desk. Which of the following shows how to find the number of crayons Maria has left?
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16 —10=6 Maria has 6 crayons left.
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16 —6 =10 Maria has 10 crayons left.

@ NI YY

FPPPPvrivdyy
16

Frrrrr

16 —9 =7 Mariahas 7 crayons left.
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16 -7=9 Maria has 9 crayons left.

Using mental math, find the numbers that are 10 less and 10 more than the number shown.

68

n Color one half of the circle.




Mrs. Booth makes sandwiches. She makes 7 turkey, 8 ham, and 3 jelly sandwiches. How many sandwiches does Mrs.
Booth make in all? Select the number sentence that matches the story.
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B+7+3=13

8+3+?=17
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7+3+8=18

n A pen and marker are measured with centimeter cubes as shown.

— e ]

A en

[ [ [ l X X X \ 7 centimeters

T T T T T T T T T T ] 11centimeters
—- marker

How much longer is the marker than the pen?

@ 3 centimeters

4 centimeters

@ 5 centimeters

@ 18 centimeters

n Cassie has 80 orders for flowers. She has delivered 60 of them. how many more does she have to deliver?

She has more to deliver.




16 Joshua has 9 toy trucks and 9 toy cars, as shown. How many trucks and cars does he have in all?
Drag numbers to show how to make ten to solve.
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DRAG & DROP THE ANSWER

18

19

9+ =10

10 + =

Joshua has trucks and cars in all.



WA Sclect the picture that shows the correct way to measure.

5 centimeter cubes
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7 centimeter cubes

m Which of these clocks shows the time 4 : 00?




a Use the clues to find the number.

e | am greater than 51
e | am less than 68

e | have 9 ones.

The number is




a Count the groups of ten. Then, count the total number of strawberries. Drag numbers to make each sentence true.

DRAG & DROP THE ANSWER

38
48

58
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There are groups of 10.
There are strawberries in all.
aaaaaaaaaa 9 chickens. The y are either brown or white. If the farmer has 3 white chickens, how man y are brown




E Select the number sentence that matches the picture and the number bond.
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(A) 6+26 =20
(8)2+6=26
(©)20+26=6

(©) 20+ 6 =26




a Drag numbers to make the statement about the picture true.

DRAG & DROP THE ANSWER

36
39

63
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tens ones is the same as ones.




24 What time does the clock show?




13 Which shape is a hexagon? Choose the correct option.
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Which figure shows fourths?

Figure A FigureB
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Answer:

Figure A

Figure B




Match each 3-dimensional object with the correct name.

DRAG & DROP THE ANSWER

Sphere

Cylinder

Rectangular prism

Cone

Cube

Find the answer.

49 45




n What whole number comes right after 106?

The number is

105
107
108

m 57 is 5 tens plus 7 ones. What is another way to make 57?

@ 3 tens plus 17 ones

3 tens plus 7 ones

@ 4 tens plus 17 ones

E Which shape has more sides?
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Jill has 9 presents. She gets 6 more presents. How many presents did Jill get in all?
Select all of the work that could be used to solve the story problem.
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9+6=16
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9+6=15

9+6=15

Fill in the blanks to make true statements. Draw the coins on paper and cross off tens or ones as needed.
10 less than 32 is

1 less than 32 is




E What number is 10 less than 83?

73
93
82

B How many faces does this cube have?

faces

There are 5 girls in the band.

Some more girls join the band.

Now there are 7 girls in the band.

How many more girls joined the band?
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Select the 2 number sentences that solve this story problem.

[A]5+7=12
(8] 7-5=2
[c]s—7=2
[p]5+2=7




B Which answers equal 857 Mark TWO.

8 tens + b5 tens
8 tens + 5 ones

10+10+10+10+10+10+10+10+5

|E| 8 ones + 5 ones

a Add the numbers together by counting on with ones and/or tens.

47+ 30 =




